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Guess Paper – 2007

Class – X

Mathematics
Time allowed: 3 hours




                    Maximum Marks: 80 

· [image: image6.png]Please check that this question paper contains 5 printed pages.

· Code number given on the right hand side of the question paper should be written on the title page of the answer-book by the candidates

· Please check that this question paper contains 25 questions.

· Please write down the serial number of the question before attempting it.

GENERAL INSTRUCTIONS: -

01. All questions are compulsory.

02. This question paper consists of 25 questions divided into three sections: - A, B and C. Section A contains 7 questions of 2 Marks each. Section B is of 12 questions of 3 Marks each and section C is of 6 questions of 5 marks each.

03. There is no overall choice. However an internal choice has been provided in two questions of 2 Marks each, two questions of 3 Marks each and two questions of 5 marks each.

04. In questions on constructions, the drawing should be neat and exactly as per the given measurements.

05. Use of calculator is not permitted.

__________________________________________________________________________
SECTION – A

 
Question numbers 1 to 7 carry 2 Marks each.

Q.1
A toy is in the form of a cone mounted on a hemisphere of radius 3.5 cm. The total height of the toy is 15.5 cm. Find the total surface area of the toy.


Q.2
An electric generator is sold for Rs.39000 cash or for 25% cash down payment and eight equal monthly instalments of Rs.3900 each. Calculate the rate of interest charged.

 





OR

 
A car is available for Rs.402200 cash or for Rs.150000 cash down payment and 3 equal half yearly instalments. If the interest is charged at 10% per annum compounded half yearly. Find the value of each instalment.

Q.3
A wrist watch is available for Rs.500 cash or for Rs.200 cash down payment followed by 6 monthly equal instalments. If the rate of interest charged is 37% per annum, find the monthly instalment.

Q.4
Draw a circle of radius 6cm. From a point any where out side the circle, construct a pair of tangents to the circle without using the centre and measure their lengths. Steps of constructions not required.

Q.5
Find the ratio in which the line segment joining (2, - 3) and (5, 6) is divided by x – axis.

 






OR

 
The three vertices of a rhombus, taken in order, are (2, - 1), (3, 4) and (- 2, 3). Find the fourth vertex.

Q.6
A bag contains 25 cards numbered from 1 to 25. One card is drawn from bag. Find the probability that 

(i) It has a number divisible by both 2 and 3.

(ii) It has a prime number less than 20.

Q.7
In a leap year, find the probability that there are 53 Sundays in the year.

SECTION – B

 

Question numbers 8 to 19 carry 3 Marks each.

Q.8
The angle of elevation of the bottom of a window 10 meter above the ground level from a point on the ground is 300. A pole projecting outwards and upwards from the bottom of the window makes an angle of 300 with the wall. If the angle of elevation of the top of the pole observed from the same point on the ground is 600, find the length of the pole.

 






OR

 
From a window h metres high above the ground in a street, the angle of elevation and depression of the top and foot of the other house on the opposite side of the street are ( and ( respectively. Show that the height of the opposite house is h (1 + tan ( cot () metres.

Q.9
A tree 12m high, is broken by the wind in such a way that its top touches the ground and makes an angle 600 with the ground. At what height from the bottom the tree is broken by the wind?

Q.10
A rectangular reservoir is 120m long and 75m wide. At what speed per hour must water flow into it through a square pipe 20cm wide so that the water rises by 2.4m in 18 hours?

Q.11
The length of a line segment is 10. If one end is at (2, - 3) and the ordinate of the second end is 3. Find the abscissa of the second end.

 






OR

 
Find the vertices of the triangle, the mid point of whose sides are (3, 1) and       (5, 6) and (-3, 2).

Q.12
A person borrowed some money on compound interest and returned it in three years in equal annual instalments. If the rate of interest is 15% per annum and annual instalment is Rs. 486680, find the sum borrowed.

Q.13
Construct a triangle ABC in which AB = 5cm, angle C = 300 and altitude              CD = 4 cm. Write steps of construction.

Q.14
Construct a quadrilateral similar to a given quadrilateral ABCD in which AB = 6.3 cm, BC = 5.2 cm, CD = 5.6 cm, DA = 7.1 cm and angle B = 600, whose sides are 5/4th of corresponding sides ABCD. Write steps of construction.

Q.15
A spherical ball of lead 3cm in diameter is melted and recast into three spherical balls. The diameters of these balls are 1cm and 1.5 cm. Find the diameter of the third ball.

Q.16
Find the ratio in which the line x – y – 2 = 0 divides the line segment joining the points (3, - 1) and (8, 9), also find the point of intersection.

Q.17
Draw a pie chart for the following data.

	Years
	First
	Second
	Third
	Fourth
	Fifth

	% age 

   exp
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Q.18
The given pie chart represents the expenditure of a family on different items.
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On the basis of the above pie chart answer the following.

(i) Find the percentage expenditure on clothing

(ii) If the expenditure on Housing is Rs.2000, find the total expenditure of the family.

(iii) Find the difference in expenditure on food and other items taken together.

Q.19
Annual income from salary of Miss S. Naidu, whose age is 65 years is Rs.385000. She donates Rs.10000 to Prime Minister’s relief fund (100% exemption) and Rs.10000 to a charitable society (50% exemption). She contributes Rs.70000 towards PPF annually and pays quarterly premium of Rs.3500 towards LIC. She also purchases NSC for Rs.20000. She pays Rs.1600 per month towards income tax for 11 months. What is her tax liability for the last month of the financial year? Use the following for calculating income tax.

a. Savings: - 100% exemption for savings up to Rs. 100000

b. Rate of income tax for working women.

 

    Slab



Income Tax

 

1. Up to 135000


No Tax

 

2. From 135001 to150000

10% of the taxable income exceeding 

 






Rs. 135000.

3. From 150001 to 250000

Rs.1500 + 20% of the taxable income

 




exceeding Rs.150000.

4. Above 250000


Rs.21500 + 30% of the taxable income

 




exceeding Rs.250000.

c. Rate of income tax for Senior Citizens

 



Slab




Income tax

 

1. Up to Rs.185000



No tax

 

2. From Rs.185001 to Rs. 250000

20% of the taxable income  

                                                   


above
Rs. 185000

 

3. From Rs.250001 and above

Rs.13000 + 30% of the  

                                                                                income exceeding Rs.250000.

d. Education cess



2% of the income tax.

SECTION –C

 

Question numbers 20 to 25 carry 5 marks each.

Q.20
The angles of depression of the top and bottom of a building 50 metres high as observed from the top of a tower are 300 and 600 respectively. Find the height of the tower and also the horizontal distance between the building and the tower.


 






OR

 
The angle of elevation of the top of a tower as observed from a point on the ground is ‘(’ and on moving ‘a’ metres towards the tower, the angle of elevation is ‘(’. Prove that the height of the tower is                           .

Q.21
A bucket made up of a metal sheet is in the form of a frustum of a cone of height 16cm with radii of its lower and upper ends as 8cm and 20 cm respectively. Find the cost of the bucket if the cost of metal sheet used is Rs.15 per 100 cm2, also find cost of the milk that can fill the bucket if cost of 1 lt. of milk is Rs.15.

Q.22
Find the mean mark of the students from the following cumulative frequency table. 

	Marks
	Number of Students

	0 and above

10 and above

20 and above

30 and above

40 and above

50 and above

60 and above

70 and above

80 and above

90 and above

100 and above
	80

77

72

65

55

43

28

16

10

08

00


Q.23
The mean of the following frequency table is 50, but the frequencies f1 and f2 in classes 20 – 40 and 60 – 80 respectively are not known. Find these frequencies. 


	Class
	Frequency

	0 – 20 
	17

	20 – 40
	f1

	40 – 60 
	32

	60 – 80
	f2

	80 – 100
	19

	Total
	120


 





OR

The mean of the flowing frequency distribution is 62.8 and the sum of all frequencies is 50. Compute the missing frequencies f1 and f2
	Class
	Frequency

	0 – 20 
	5

	20 – 40
	f1

	40 – 60 
	10

	60 – 80
	f2

	80 – 100
	7

	100 - 120
	8

	Total
	50


Q.24
The monthly salary of Arjun is Rs.31500. He donates Rs.15000 to Prime Minister’s relief fund (100% exemption) and Rs.10000 to a charitable society (50% exemption). He contributes Rs.6000 per month towards his provident fund and pays an annual premium of Rs.12000 towards LIC. He also purchases NSC for Rs.6000. Calculate the income tax deducted from his salary in the last month of the year, if tax deduction is made from his salary for 11 months at the rate of Rs.2500 per month.

(a) Rebate for savings: 100% exemption for savings up to a maximum of Rs.100000

(b) Rebate of income tax

 

Slab




Income Tax

 
(i)  Up to Rs.100000



No tax

 
(ii) From Rs.100001 to Rs. 150000
10% of the amount exceeding Rs.100000

 
(iii) From Rs. 150001 to Rs. 250000
Rs.5000 + 20% of the amount exceeding

 






Rs.150000.

 
(iv) From Rs.250001 and above

Rs.25000+30% of the amount exceeding

 






Rs.250000

(c) Education cess



2% of the income tax

(d) Surcharge




10% of the net income tax if gross 

 






income is more than Rs.100000

Q.25


(i) A gas cooking range is available for Rs.2500 cash or for Rs.520 cash down payment followed by 4 equal monthly instalments. If rate of interest charged is 25% per annum, calculate the monthly instalment.

(ii) A sum of Rs.390200 is to be paid back in three equal annual instalments. How much is each instalment, if the rate of interest charged is 4% per annum compounded annually.
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